A B2 U 2 #H B B
IEFZEDEH REARKEHIEMEREE BNAGMAEKERISEAEBERR
I I BHERS
A 4T A +# 64 3A 21H
A # B R BAMEH AFE 2025HE
1 AHLBASE (B 1)
I£%0| KaL-EomESRE | AL £ 8 (B K F) tex B F 5 ffifh EHEOES i
& B 4% 7 Z1[q %o AR (Fithe) X 1% 4 (BtiA &)
BRE AloAlEaRat
gﬁﬂyﬁ&%%ﬁ 535$+ 10,760,000
RE HEE%E
REIBE HA @ik i
ABGHERT HISH P — BT ETHE LN
REIME B AR o S, BREELENSHME
BrAs ERABHEH S TAREL AR S
REEHE ) F— T DEEERET S,
Bﬁm&jﬁ%jiﬁ B2t aREEMR 10,800,000 e
so1630s |IRMRATE )1 10847 000| ABRIEEET HRH R4 11,660,000

REEMHR hiE AKX

[B&LDEE]
[P EfME) &, HERKRESDEETRH
TAFLZEIL. AL BN RBL - RN A LERBECHERIREDE ) TREH
DEAEEEIT. ARLELNRBL -EZNFLEREDI100D110ITHHE T I ECEERAADELE) T

1
2
3



MEELSEEIE, SURHBEDOEBBAELHL., ( NI EEROZYBRELHT 5,

2 ZHREE (B :A)
ZHOHEFEHD T # - P _
2 w B |AY|BEXIEFER|2HEHE _ IS%0BF I % % #® = B R M E o B
43 & i & F|5x 23 Iz & 1+ % &
F H|%% A A
RIEEHE
BR4RRE L=0.33 km SATJIAIEL=0.4 km
. B N zﬁgﬁ;ﬂl% A=0.059km?2
1643 H 258 11,660,000 $#1643 A 258 | #6107 188 Eggﬁﬂxﬁ;"‘z* ég?ﬁ
EMEER
x % 0o I #
T EZH B E E & %8 = I E % 0B T = 2 # E:3 g B 2}
& F|5%E 5
F H|%E A H
0
KGR EH st g # 0 I #
T E ZH A . ﬁiﬁ%ﬁg 7= FEI$%0)f5Ffr o -3 % i = £ 3 22}
REmFEE g AX pe BlE B B
R BES
0
x # 0o I #
T E 2 #H A X E & 8 — IEZ% 0B M s -3 %* i = A 3 23]
b5 F|5% 53
F B|& A A
0
£ #®# 0o I #H
EF ®E 2 H A I E & 8 — I E %05 o ® * i = x B 2}
& F|%E &
=3 HE A H
0
[GE&H LEDFE]




